New Mexico Department of Health, Scientific Laboratory Division

Method 8260B (SLD Method 765: SDWA VOCs)
Long Term Minimum Detection Limit Determination
Thirty-two Replicates at 1.0 ug/L for all analytes (Except: MEK and Xylenes at 2.0 ug/l; THF at 4.0 ug/L; Nitrobenzene at 20 ug/L)

Date: 01/12/2006

Instrument: Aurora (1.O.Analytical 4560 with DPM-16/ Carlo Ebra GC8035/ Fisons MD-800)

Analyst: C. Owens
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2.45283 x Standard Deviation.

2.45283, MDL
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Remarks: For thirty-two replicates, student t value
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